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Spring '07/MAT 117/Worksheet 8 Name: + deon Show all your work.

1. (6pts) Suppose 140 votes are cast in an election among five candidates. After the first
100 votes are counted. the tallies are as follows: Stein 12, O'Rourke 23, Cohen 17, Holt 29,
Massey 19,

a) What is the minimal number of remaining votes Holt needs to be assured of a win?

b) What is the minimal number of remaining votes Cohen needs to be assured of a win?
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2. (4pts) If 273 votes are cast, what is the smallest number of votes a winning candidate
can have in a 4-candidate race decided by plurality?
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3. (20pts) A small town must decide whether to build tennis courts, a basketball court, or
a haseball field. The residents are polled and their preference rankings are as follows:

percentage of voters: | 12 20 11 24 10 23

Tennis courts 1 1 2 3 2 3
Basketball court 203 1 1 3 &
Basehall feld o; A IR E (] NI |

a) Which choice wins the vote in a plurality election?

b) Which choice wins the vote in a plurality election with a runoff”

¢) Which choice is the Condercet winner, if any?

d) Which choice is the winner using Borda’s method? Perform the check on the sum of
Borda points.

e) In the Borda election, could the 12% of voters from the first column achieve a preferable
outcome by voting stratesically, assuming all the other members voted as shown?
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